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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff

Warning: col ['FVIEC1 _E', 'FVOEC1_E2'] missing
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Plot [['I', "lopt'], ['T", "Topt'], ['RH', 'RHopt'], ['ETcl’, 'optETcl'], 'LAI', 'optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-1_0
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P3-1

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

07:55 278 150.0 2.583 (& =| ThHA@O7:55 KENFEF (RAMEEE)
08:35 278 150. 0 2.583 F|  FiHAe08:35 KREFEF (RA{LREIEE
09:25 278 150.0 2.583 |(Z=| FhHAQD9:25 KENFEF (RAfEEIER)
10:15 278 150.0 2.583 (£ =| ThHA@10:15 KENIEF CGRAMEEEE)
11:00 278 150.0 2.583 FA| FhHA@11:00 KRENFZEF (RAE{EEEE)
11:45 278 150.0 2.583 FA{ FhHR@11:45 RHMIEHF CRAKLESR)
12:25 278 150.0 2.583 FH| FnHf@12:25 KRFEF CGRAERS)
13:05 278 150.0 2.583 FA| FhHA@13:05 KRENFZF (RAA{EEE)
13:45 278 150.0 2.583 FA| hHR@13:45 RHMIEHF (RAKLER)
14:25 278 150.0 2.583 FH| FnHf@14:25 KRFEF CRAERS)
15:10 278 150.0 2.583 [/\ig| FhHA@15:10 KEIEF CGRAFEESE)
16:05 278 150.0 2.583 [/\fi| FnHR@16:05 KREIEF (KREMEZERE)
24t 3336.0 (12)%) 1800. 0 ZHKEC: 2200, PH: 5.5

E%PH (7.5) Re

RN S R FEPH 5. 5249999999999995, HFiEABH A% B #hiBEPH, 1BEF A%
BEIFRECE (1727.0 vs 4707.0) 45
B Z N S RFHIREC 2200. 0




ET (ml/hr/plant)

P3-1_0, Day=77 (2025-06-14)
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P3-1

BYiE) | GEBIATIK () | EHME (EH/&) | EBRERE (/X)) | KR R

07:45 273 150.0 2.583 | =| {Ri%e07:45 B (KREEZBE)
08:45 273 150.0 2.583 |Z=| {Ri%e08:45 Bz (KREAEZEHE)
09:45 273 150.0 2.583 |Z=| {Ri%e09:45 Bzl (KEAERSE)
10:45 273 150.0 2.583 FA| {Ri%@10:45 Bz (GRAEEE)
12:40 273 150.0 2.583 FA| 1B2i%@12:40 Bzh (kB{EREE)
13:25 273 150.0 2.583 FE| 1Ri&@13:25 B (REAERSE)
14:10 273 150.0 2.583 FA| 1BRi%@14:10 B3h (RAHERSE)
14:55 273 150.0 2.583 FA| 1BRi%@14:55 B3h (kAIEREE)
2it]2184.0 (8%) 1200. 0 3HKEC: 2200, PH: 5.5

large discrepency for begining water status (445:69.0), set to 445 ml

Ei&%PH (7.5) K5

RIS RFHRPH 5. 5249999999999995, HFiEABH A% B 5iAIEPH, 1BF A%
3 [EHECE (1760.0 vs 5103.0) I 5
HRENE Y4 K REC 2200. 0




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=76 (2025-06-13)
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P3-1

BfE) | GEBATIK () | s (ERH/#F) | EBREE (B/R) | X5’ R

06:30 283 150. 0 2.583 FE| 1Ri%@06:30 Bzl (KRS
07:30 283 150.0 2.583 FH| 1RRi%@07:30 Bz (AR
13:00 283 150.0 2.583 FA| 1BRi%@13:00 B3h (RAERSE)
14:00 283 150.0 2.583 FA| {Ri%@14:00 Bz (GRAERE)
14:35 283 150. 0 2.583 FE| 1RRi&@14:35 B (RAERESE)
15:15 283 150.0 2.583 | =| 1Rige15:15 Bz (GRAFEHE)
16:10 283 150.0 2.583 |Z=| {Ri&e16:10 B (KREZBE)
23t|1981.0 (7% 1050.0 EGHKEC: 2200, PH: 5.5
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150.0), FAIEEHT—@E XAH5

FERUIE NS KIHRPH 5. 5249999999999995, HFMEALHL A B hiEIEPH, FF oA
H#EERECZE (1803. 0 vs 5733.0) 03
REE NS KIFHIKEC 2200. 0
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P3-1_0, Day=75 (2025-06-12)
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P3-1

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R

07:25 283 150. 0 2.583 E BRi&e07:25 Bzl (GRAERSE)
07:55 283 150.0 2.583 E|  {Ri&e07:55 B3h (RFE{EREE)
08:35 283 150.0 2.583 | 1Rie08:35 B (KREAERE)
09:15 283 150. 0 2.583 E BRi&e09:15 Bzl (RAERE)
09:50 283 150.0 2.583 =l {Ri%@09:50 B (RAERSE)
10:25 283 150.0 2.583 = RRiB010:25 B (REAEESE)
11:05 283 150.0 2.583 =l RiBe11:05 Bah (REAKEE)
11:40 283 150. 0 2.583 =l RiB011:40 Bz (GRAEEE)
12:10 283 150.0 2.583 =l {Rige12:10 B3 (RAERSE)
12:40 283 150.0 2. 583 S {Rige12:40 B3 (RAERSE)
13:10 283 150. 0 2.583 E| {Rig@13:10 Bzh (GRE{ERSE)
13:40 283 150.0 2.583 F BRige13:40 Bz CGRAERE)
14:10 283 150.0 2.583 S| {Rige14:10 B3 (RAERSE)
14:40 283 150. 0 2.583 E BRige14:40 Bz CGRAERESE)
15:10 283 150.0 2.583 5| 1RiRe15:10 B35 (REAEES)
15:40 283 150.0 2.583 S {Rig015:40 B3 (RAERSE)
16:15 283 150. 0 2.583 E BRige16:15 Bz (GRAERESE)
16:55 283 150.0 2.583 5| {Ri%e16:55 B3 (RAERSE)
24t]5094.0 (18X%) 2700. 0 ZHKEC: 2200, PH: 5.5

HERNERE STRERST (182.0 :
2RI\ EPRERE150.0 ml.

150.0), FAIEEHT—@E XAH5

large discrepency for begining water status (232:54.0), set to 232 ml
E;&PH (7.42) RS

B S RFERPH 5. 5249999999999995, T HEARH A FE 51EIEPH, EF shiA%

[E{&REC 6607.0 K5, ZEiNF{KECAE&HRER
HEEIRECE (1847.0 vs 6607.0) 03
REE NS KFIKEC 2200. 0




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

"MW ]

[ME,

P3-1_0, Day=74 (2025-06-11)

150

100 A

50

T
| c
©
=
| E
>
o
[T
1.
0.8 -
0.6 -
0.4 -
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
o5 | OPtEC0=3000.0, setECB=2200 N
0.6 -
0.4 -
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o5 | OPtPHO=6.5, setPHB=5.5 t
0.6 -
0.4 -
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 |
: QB - — — — 7
600 - Bylnlﬂ @D77 01:45: ET=3574 Fg=3300.0 Ro=0 ,g
: - 4000 S
1 o
400 - " >
1 E
: - 2000
200 - , £
1 3
1
0 o L
0] 11 21 31 4] 5] 611 7] 8 1] 9 t10]11]i2[13[14]1[16]17[18]19]2T]2]2]223
eood B | B[ | B[ | BB |B[KE| B 5 5 5 5 | B 5 | B5 5 5 5 5 REEREERS o~
1 c
ByEt @D74 19:37: ET=2574 Fg=2400.0 Ro=nan i 4000 =
400 - ' >
I —
o—! E
1
, - 2000
200 - - £
1 3
0 ) — — — 1
01l 11 21 31 41 5] 61 7] 819 1011121131415 16]17[18]19]2T]2]2]223
ool B | B | B [F |iF [ |[FK|K|[KE|K|K 5 5 | B5 5 5 5 5 ERARERREAREEAEES o~
1 c
ByWoFvi @077 01:45: ET=2339 Fg=2700.0 Ro=513.0 4000 2
400 - ' >
I —
1 E
: - 2000
200 - , £
1 3
1
o 12 8 @ @
: 0 | 1 2| 3] 4] 5
0| B | | % | % | % | %
0.6 -
0.4 -
0.2

|
| _obs
PPFD_obs

60 -

40 -

20 -

RH
[ ] RH_obs
[ ) RHo_obs

V1, V&RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2912 L 3000
2400 49939 -~
050 5

1800 - 2000
£
>
- 1000 &

80 Warning: lcol ['FVI',| "FVO'] missing 80



31.

30.

30.

29.

29.

31.

30.

30.

29.

29.

28.

31.

30.

30.

29.

29.

28.

—o— ME
26 - T T T
600 800 1000
m=565,m FV0=0
0- —o— ME
5 .
0 .
5 .
0 .
565 570 575
m=705,m FV0=0
—o— ME

i

($)1 o (&)} o o o
I I I I I I

705 7%0 7%5
m=830,n FV0=0

-o— M_E

($)1 o (&)} o ($)1 o
I I I I I I
(331 o (&)1 o [3)] o
I I I I I I
o [$)] o ($)1 o (3]
I I I I I I

830 835 840

30.

29.

29.

28.

28.

27.

31.

30.

30.

29.

29.

28.

31.

30.

30.

29.

29.

28.

m=465, FV0=0

30 A

29 -

28 A

27 A

M_E

T
470

T
475

m=600,m FV0=0

—0—

M_E

T
605

T
610

m=735,m FV0=0

——

M_E

735

740

745

m=869,m FV0=0

—O—

M_E

865

870

875

31.

31.

30.

30.

29.

29.

31.

30.

30.

29.

29,

31.

30.

30.

29.

29.

28.

31.

31.

30.

30.

29.

29.

m=495, FV0=0

—0—

M_E

495

T
500

T
505

m=635,m FV0=0

—0—

M_E

T
640

T
645

m=765,m FV0=0

—0—

M_E

765

770

775

m=900,m FV0=0

—O—

M_E

900

905

910

31.

31.

30.

30.

31.

30.

30.

29.

29.

28.

31.

30.

30.

29.

29.

28.

31.

31.

30.

30.

29.

29.

m=525, FV0=0

—o— M_E

525 550 5é5
m=670,n FV0=0

—o— M_E

T T T T T
672.5 675.0 677.5 680.0 682.5
m=795,m FV0=0

—&— M_E

il

\

795 860 865
m=940,n FV0=0

—o— M_E

942.5 945.0 947.5 950.0 952.5
m




32.

31.

31.

30.

30.

29.

29.

m=990, FV0=0

—o— M_E

990

9é5 10b0
m=525,n FV0=0

35 -

34

33 A

32 -

31

—— MW

T,

525

550 555
m=670,n FV0=0

34

33 A

32 -

31

30 -

—— MW

672.5 675.0 677.5 680.0 682.5
m=799,m FV0=0

34 1

33

32 A

31

30 A

-— MW

RS

795

800 805

36

34 -

32 -

30 A

28

26 -

M_w

T T
800 1000

m=565,m FV0=0

T
600

35 A

34 -

33 A

32 -

31 4

30 -

—— MW

5%0 5%5
m=705,n FV0=0

33 A

32 -

31 4

30 -

29 -

—— MW

[

i
i

7%0 7%5
m=830,n FV0=0

705

34 -

33 -

32 -

31

30 -

29 -

-o— MW

e
i

830 835 840

m=465, FV0=0

31 A

30 A

29 ~

28 -

27 A

26

—— MW

4%0 4%5
m=600,n FV0=0

35 -

34 -

33 -

32 A

31

30 A

—— MW

665 6%0
m=735,n FV0=0

34 -

33 -

32 A

31

30 A

29 -

—0— MW

7AO 7&5
m=865,n FV0=0

34 -

33 A

32 -

31

30 A

29 A

-0— MW

870 875

m=495, FV0=0

35 A

34 -

33 A

32 -

31

30

—— MW

T T T T T
497.5 500.0 502.5 505.0 507.5
m=635,m FV0=0

34 -

33 -

32 -

31

30 A

—— MW

<

6&0 6&5
m=765,n FV0=0

34

33 -

32 -

31

30 A

29 ~

—— MW

7%0 755
m=900,n FV0=0

765

34

33 A

32 -

31 4

30 A

-o— MW

900 905 910




m=940, FV0=0

34

33 A

32 A

31 -

30 A

—0—

M_w

T T T T T
942.5 945.0 947.5 950.0 952.5

m

m=990, FV0=0
33 A
32 A
31 A
30 A
T T T
990 995 1000




hour

:00 - 100

210 -

15 80
15

20 - 60
140

:55

:55 - 40
:55

:55 20
:55

10 Lo




P3-1

BfiE) | GEBATK (RY) | EHRE (EH/K) | ERERE (B/R) | XS ERE

07:15 283 150. 0 2.583 = {RRiB007:15 Bzh (RAKEE)
07:45 283 150. 0 2.583 El 1BRi&e07:45 Bz (GRFAEREEE
08:15 283 150.0 2.583 5| {Ri%e08:15 Bz (FAERSE)
08:45 283 150.0 2.583 S| {Ri%e08:45 B (KRAERSE)
09:20 283 150. 0 2.583 E BRi%e09:20 BE1 (RAERSE)
10:00 283 150.0 2.583 F[ BRi%e10:00 Bz (GRAERESE)
10:40 283 150.0 2.583 = {Ri%010:40 B3 (RAERSE)
11:20 283 150. 0 2.583 E BRige11:20 Bz (GRAERESE)
11:55 283 150.0 2.583 S {Ri%e11:55 Bz (GRAERSE)
12:25 283 150.0 2.583 =l {Rige12:25 B3 (REAERSE)
12:55 283 150. 0 2.583 E BRige12:55 Bz (GRAERESE)
13:25 283 150.0 2.583 5| {Ri%e13:25 B3 (RAERSE)
13:55 283 150.0 2.583 = {RRiB@13:55 B (RFAKESE)
14:25 283 150. 0 2.583 E BRige14:25 Bz (GRAEREE)
14:55 283 150.0 2.583 5| {Ri%e14:55 B3 (RAERSE)
15:25 283 150.0 2. 583 =l RRiB@15:25 B (REAEESE)
15:55 283 150. 0 2.583 = {RRiBe15:55 Bz (REAKEE)
16:30 283 150. 0 2.583 El BRi&e16:30 Bz CGRAEREE)
17:10 283 150.0 2.583 F[ BRige17:10 Bz CGRAERESE)
2it]5377.0 (190%) 2850.0 FHIKEC: 2200, PH: 5.5

HERNERE STRERST (182.0 :
BRI\ EPRERE147.0 ml.

147.0), AIEERT—@E XAH5

large discrepency for begining water status (368:66.0), set to 368 ml
E&PH (7.25) R
TR S RFERPH 5. 5249999999999995, HFHEABHAiE B EhiHIEPH, EF A%
[Bl/REC 6940.0 K&, ZiNFAIRECAE R IMIEER
HE[ERECE (1887.0 vs 6940.0) i35
HRENE Y S K IREC 2200. 0




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)
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Warning: [col ['WC1’, "WC2'] missing
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Warning: |col ['ECB’, "ECC’'] missing

optPHO0=6. 5, setPHB=5.5

Warning: [col ['PHB', 'PHC'] missing
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